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2. Option 1- Men.

(5m x &) = (w x 4 x 100)/40 = (3C x 6 x 100)/75.
ob 1 §H  REPLY om =10w = 4C.

Efficiencyof M:W:C=4:2:5.

Total work- 120.

3dayswork =8+ 6+ 5=10.
. DEEPAK PATEL 22 hours ago x 6 by both sides.
* 7 18 D& =19%6=114.

5 GF  REPLY Last 6 work is to be completed by men.

700

Puspranjan singh 22 hours ago

v (7%« 1 REPLY

w 7=/« 1 REPLY

Thank-you So Much, Sirji..[= o
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5 Men can do a piece of work in 6 days. 6 Women can do 40% of same work in 4 days and
Children can do 75% of same work in 6 days. If 2 Men, 3 Women and 1 Child start work
alternately, then who will be the last to complete the work?

5 QY Teh 1 Pl 6 Gl H I b &l 6 Afgelny

Y Ghdl & 3R 3 gTd ZH HH FT 75% 6 G A

AT AR 1 gl II-IY § BRI Y& B &, dlf PRI

Th i BIIIT?

2)Women
3)Child
4)CND




A sum of money lent on simple interest triples itself in 15 years and 6 months. In how
many year will it be doubled?

TTYROT Il W IYUR ar Trﬁ15€rér3ﬂ‘{634ﬁﬁafr?ﬁ?r &l
m%lﬁmﬁaﬁﬁa@@m =

1) 6 yr 3 months
2) 7 yr 9 months
3) 8 yr 3 months
4) 9 yr 6 months




The percentage increase in the surface area of a cube when each side is doubled is ?

Gy AaThol H Thaa gfara &6 gidl & J9 UAdh
g%ﬂ%m%fz Ly s

1)150%
2)50%

3)200%
4)300%




In the trapezium PQRS, QR | | PS, £Q=90°, PQ =QR and £PRS =20°. If £TSR = 6; \

then the value of Qis ?
HASFT PQRSH, QR || PS, Q=90° PQ=QR 3 2PRS=20°|If¢ TSR=,dl &I

AT & ?




The top of two poles of height 24 m and 36 m are connected by a wire. If the wire
makes an a}T%e of 60° with the horizontal, then the length of the wire is ?

24 e AR 36_ e a1 Tl & @HT &b MY T aX § o g0 &

gfe dX &fdst & 60° @ aﬁwa?n?n% ar R & Jas 7
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A iron sphere of diameter 18 cm is drawn into a wire of diameter 4 mm. Find the
length of the wire ? L

O 18 AHI & Th dllg & el &l oI 4 el & arR & dfar aar g
dR T Fa8 A1 Hriaw?
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Anil makes a profit of 18% on cost price by selling a washing machine for Rs. 5900. If the cost
price of the machine is increased by 5% and he wants to earn the same profit, What will be the

new profit percent on selling price?

A T griReT AWM Bl 5. A TP T Hod U 18% bl olTH Told haT &l

5900. T AMA & T Hed H 5% P gig dr ST & IR T8 T8 oH Afod
PIAT ARl &, A TP Heg R 71 1T gfARrad ar e

1)14.63%
2)12.25%

3)15.96%
4)17.14%




In a A ABC, the sides AB and AC have been produced to D and E. Bisectors of £ CBD

and £ BCE meet at O. If £ A=64°,then £BOCiis ?
Tch ABCH, 3T AB3IX ACHI D3R Ede I 31T &1 2 CBD 3R £ BCE

& ATgHTSIR OW fHea &1 Il 2A=64°%, dI 2 BOC®?




Pradeep invested 20% more than Manu, Manu invested 10% less than Ram. If the total sum of
their investments is ¥ 14,900, how much amount did Ram invest?

UET & A T 20% Ae fAdy fham, A F 17 @ 10% &A1 @y fean afg
3Adh TAAA BT Pol AT 14,9008, ol TH o el TMA &1 fFaAew fpar?

1)Rs 4950
2)Rs 4900
3)Rs 5000
4)Rs 5050
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A piece of wire 78 cm long is bent in the form of an isosceles triangle. If the ratio‘ o;‘
one of the equal sides toégﬁ baseis 5 : 3, then wha%s theéllgngth (E)l;cithe base? %
diX &l Tk ghsT 78 ol Ush HATGATE T3] & ®U A 3T 37 &
gfe Th AT Yol P YR T AT 5:3 &, dl IR H AT B2




If AABC is right angles at C, then what is cos(A + B) + sin(A + B) equal to?
Ife AABCC TR HADIUT &, dl cos(A + B) +sin(A + B) SRTEX §72
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Find the least number which when divided by 5, 6, 7 and 8 leaves a remainder 3,‘ bIJt
when divided by 9 leaves no remainder ?

ag B ¥ B HE&IT A9 HIiSv 58 5, 6, 7 3N 8 & [Afad ™=
W 3 AV JIIdT &, ofehad 9 @ AMTT A W IS AV 8] JIaT 872
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Length of two chords AB and AC of a circle are 12 cm and 5 cm and £BAC = 90°. Flﬁd
the radius of the circle ?

Tch gd Sl al Sai3ilt AB 3R ACH! ot 12 AT 3R 5 T AT LBAC=
90° &1 g &1 Bsar |A1a hifaw?




